

# New operations defined over the intuitionistic fuzzy sets

Krassimir T. Atanassov

*Math. Research Lab., IPACT, Sofia, Bulgaria*

Received November 1992

Revised April 1993

*Abstract:* New types of operations are defined over the intuitionistic fuzzy sets.

*Keywords:* Fuzzy set; intuitionistic fuzzy set.

Some operations (as  $\cup$ ,  $\cap$ ,  $+$ ,  $\cdot$ ) are defined over the Intuitionistic Fuzzy Sets (IFSs) in [1]. Here we shall introduce four new ones, and we shall show some of their basic properties.

Let a set  $E$  be fixed. An IFS  $A$  in  $E$  is an object having the form

$$A^* = \{\langle x, \mu_A(x), \gamma_A(x) \rangle \mid x \in E\},$$

where the functions  $\mu_A: E \rightarrow [0, 1]$  and  $\gamma_A: E \rightarrow [0, 1]$  define the degree of membership and the degree of non-membership of the element  $x \in E$  to the set  $A$ , which is a subset of  $E$ , respectively, and for every  $x \in E$ :

$$0 \leq \mu_A(x) + \gamma_A(x) \leq 1.$$

For every two IFSs  $A$  and  $B$  are valid (see [1–5]) the following definitions (let  $\alpha, \beta \in [0, 1]$ ):

$$A \subset B \quad \text{iff } (\forall x \in E) (\mu_A(x) \leq \mu_B(x) \& \gamma_A(x) \geq \gamma_B(x)),$$

$$A \supset B \quad \text{iff } B \subset A,$$

$$A = B \quad \text{iff } (\forall x \in E) (\mu_A(x) = \mu_B(x) \& \gamma_A(x) = \gamma_B(x)),$$

$$\bar{A} = \{\langle x, \gamma_A(x), \mu_A(x) \rangle \mid x \in E\},$$

$$A \cap B = \{\langle x, \min(\mu_A(x), \mu_B(x)), \max(\gamma_A(x), \gamma_B(x)) \rangle \mid x \in E\},$$

$$A \cup B = \{\langle x, \max(\mu_A(x), \mu_B(x)), \min(\gamma_A(x), \gamma_B(x)) \rangle \mid x \in E\},$$

$$A + B = \{\langle x, \mu_A(x) + \mu_B(x) - \mu_A(x) \cdot \mu_B(x), \gamma_A(x) \cdot \gamma_B(x) \rangle \mid x \in E\},$$

$$A \cdot B = \{\langle x, \mu_A(x) \cdot \mu_B(x), \gamma_A(x) + \gamma_B(x) - \gamma_A(x) \cdot \gamma_B(x) \rangle \mid x \in E\},$$

$$\square A = \{\langle x, \mu_A(x), 1 - \mu_A(x) \rangle \mid x \in E\},$$

$$\diamond A = \{\langle x, 1 - \gamma_A(x), \gamma_A(x) \rangle \mid x \in E\},$$

$$C(A) = \{\langle x, K, L \rangle \mid x \in E\} \quad \text{where } K = \max_{x \in E} \mu_A(x), \quad L = \min_{x \in E} \gamma_A(x),$$

*Correspondence to:* Dr. K.T. Atanassov, Math. Research Lab., IPACT, P.O. Box 12, Sofia, Bulgaria.

$$I(A) = \{\langle x, k, l \rangle \mid x \in E\} \quad \text{where } k = \min_{x \in E} \mu_A(x), \quad l = \max_{x \in E} \gamma_A(x),$$

$$D_\alpha(A) = \{\langle x, \mu_A(x) + \alpha \cdot \pi_A(x), \gamma_A(x) + (1 - \alpha) \cdot \pi_A(x) \rangle \mid x \in E\},$$

$$F_{\alpha, \beta}(A) = \{\langle x, \mu_A(x) + \alpha \cdot \pi_A(x), \gamma_A(x) + \beta \cdot \pi_A(x) \rangle \mid x \in E\} \quad \text{where } \alpha + \beta \leq 1,$$

$$G_{\alpha, \beta}(A) = \{\langle x, \alpha \cdot \mu_A(x), \beta \cdot \gamma_A(x) \rangle \mid x \in E\},$$

$$H_{\alpha, \beta}(A) = \{\langle x, \alpha \cdot \mu_A(x), \gamma_A(x) + \beta \cdot \pi_A(x) \rangle \mid x \in E\},$$

$$H_{\alpha, \beta}^*(A) = \{\langle x, \alpha \cdot \mu_A(x), \gamma_A(x) + \beta \cdot (1 - \alpha \cdot \mu_A(x) - \gamma_A(x)) \rangle \mid x \in E\},$$

$$J_{\alpha, \beta}(A) = \{\langle x, \mu_A(x) + \alpha \cdot \pi_A(x), \beta \cdot \gamma_A(x) \rangle \mid x \in E\},$$

$$J_{\alpha, \beta}^*(A) = \{\langle x, \mu_A(x) + \alpha \cdot (1 - \mu_A(x) - \beta \cdot \gamma_A(x)), \beta \cdot \gamma_A(x) \rangle \mid x \in E\},$$

$$X_{a, b, c, d, e, f}(A) = \{\langle x, a \cdot \mu_A(x) + b \cdot (1 - \mu_A(x) - c \cdot \gamma_A(x)), \\ d \cdot \gamma_A(x) + e \cdot (1 - f \cdot \mu_A(x) - \gamma_A(x)) \rangle \mid x \in E\},$$

where  $a, b, c, d, e, f \in [0, 1]$  and  $a + e - e \cdot f \leq 1$ ,  $b + d - b \cdot c \leq 1$ .

Here we shall define the following new operations (cf. [6–10]):

$$A @ B = \{x, \frac{1}{2}(\mu_A(x) + \mu_B(x)), \frac{1}{2}(\gamma_A(x) + \gamma_B(x)) \mid x \in E\},$$

$$A \$ B = \{x, \sqrt{\mu_A(x) \cdot \mu_B(x)}, \sqrt{\gamma_A(x) \cdot \gamma_B(x)} \mid x \in E\},$$

$$A \# B = \{x, 2 \cdot \mu_A(x) \cdot \mu_B(x) / (\mu_A(x) + \mu_B(x)), 2 \cdot \gamma_A(x) \cdot \gamma_B(x) / (\gamma_A(x) + \gamma_B(x)) \mid x \in E\}$$

for which we shall accept that if  $\mu_A(x) = \mu_B(x) = 0$ , then  $\mu_A(x) \cdot \mu_B(x) / (\mu_A(x) + \mu_B(x)) = 0$  and if  $\gamma_A(x) = \gamma_B(x) = 0$ , then  $\gamma_A(x) \cdot \gamma_B(x) / (\gamma_A(x) + \gamma_B(x)) = 0$ ;

$$A * B = \left\{ \left\langle x, \frac{\mu_A(x) + \mu_B(x)}{2 \cdot (\mu_A(x) \cdot \mu_B(x) + 1)}, \frac{\gamma_A(x) + \gamma_B(x)}{2 \cdot (\gamma_A(x) \cdot \gamma_B(x) + 1)} \right\rangle \mid x \in E \right\}.$$

Obviously, for every two IFSs  $A$  and  $B$ ,  $A @ B$ ,  $A \$ B$ ,  $A \# B$  and  $A * B$  are an IFS.

**Theorem 1.** For every three IFSs  $A$ ,  $B$  and  $C$ :

- (a)  $A @ B = B @ A$ ,
- (b)  $A \$ B = B \$ A$ ,
- (c)  $A \# B = B \# A$ ,
- (d)  $A * B = B * A$ ,
- (e)  $\overline{A @ B} = A @ B$ ,
- (f)  $\overline{A \$ B} = A \$ B$ ,
- (g)  $\overline{A \# B} = A \# B$ ,
- (h)  $\overline{A * B} = A * B$ ,
- (i)  $(A \cap B) @ C = (A @ C) \cap (B @ C)$ ,
- (j)  $(A \cup B) @ C = (A @ C) \cup (B @ C)$ ,
- (k)  $(A \cap B) \# C = (A \# C) \cap (B \# C)$ ,
- (l)  $(A \cup B) \# C = (A \# C) \cup (B \# C)$ ,
- (m)  $(A + B) @ C = (A @ C) + (B @ C)$ ,
- (n)  $(A \cdot B) @ C = (A @ C) \cdot (B @ C)$ ,
- (o)  $(A @ B) + C = (A + C) @ (B + C)$ ,
- (p)  $(A @ B) \cdot C = (A \cdot C) @ (B \cdot C)$ .

**Proof.** (m) Initially we shall prove, that for every three numbers  $a, b, c \in [0, 1]$  the following inequality is valid:

$$c \cdot (2 - a - b - c) + a \cdot b \geq 0. \quad (*)$$

When  $c^2 \leq a \cdot b$ , then

$$\begin{aligned} c \cdot (2 - a - b - c) + a \cdot b &= c \cdot (2 - a - b) - c^2 + a \cdot b \\ &\geq a \cdot b - c^2 \geq 0. \end{aligned}$$

When  $c^2 > a \cdot b$ , then

$$\begin{aligned} c \cdot (2 - a - b - c) + a \cdot b &\geq \sqrt{a \cdot b} \cdot (1 - a - b + \sqrt{a \cdot b}) \\ &\geq \begin{cases} \sqrt{a \cdot b} \cdot ((1 - a) + \sqrt{b} \cdot (\sqrt{a} - \sqrt{b})) \geq 0 & \text{if } a \geq b, \\ \sqrt{a \cdot b} \cdot ((1 - b) + \sqrt{a} \cdot (\sqrt{b} - \sqrt{a})) \geq 0 & \text{if } a < b. \end{cases} \end{aligned}$$

Let  $A, B$  and  $C$  be three given IFSs. Then

$$\begin{aligned} (A + B) @ C &= \{ \langle x, \frac{1}{2}(\mu_A(x) + \mu_B(x) - \mu_A(x) \cdot \mu_B(x) + \mu_C(x)), \frac{1}{2}(\gamma_A(x) \cdot \gamma_B(x) + \gamma_C(x)) \rangle \mid x \in E \} \\ (A @ C) + (B @ C) &= \\ &= \{ \langle x, \frac{1}{2}(\mu_A(x) + \mu_C(x)) + \frac{1}{2}(\mu_B(x) + \mu_C(x)) - \frac{1}{4}(\mu_A(x) + \mu_C(x)) \cdot (\mu_B(x) + \mu_C(x)), \\ &\quad \frac{1}{4}(\gamma_A(x) + \gamma_C(x)) \cdot (\gamma_B(x) + \gamma_C(x)) \rangle \mid x \in E \}. \end{aligned}$$

Using (\*), from

$$\begin{aligned} &\frac{1}{2}(\mu_A(x) + \mu_C(x)) + \frac{1}{2}(\mu_B(x) + \mu_C(x)) - \frac{1}{4}(\mu_A(x) + \mu_C(x)) \cdot (\mu_B(x) + \mu_C(x)) \\ &\quad - \frac{1}{2}(\mu_A(x) + \mu_B(x) - \mu_A(x) \cdot \mu_B(x) + \mu_C(x)) \\ &= \frac{1}{4}(2 \cdot \mu_C(x) + \mu_A(x) \cdot \mu_B(x) - \mu_A(x) \cdot \mu_C(x) - \mu_B(x) \cdot \mu_C(x) - \mu_C(x)^2) \geq 0 \end{aligned}$$

and from

$$\begin{aligned} &\frac{1}{2}(\gamma_A(x) \cdot \gamma_B(x) + \gamma_C(x)) - \frac{1}{4}(\gamma_A(x) + \gamma_C(x)) \cdot (\gamma_B(x) + \gamma_C(x)) \\ &= \frac{1}{4}(2 \cdot \gamma_C(x) + \gamma_A(x) \cdot \gamma_B(x) - \gamma_A(x) \cdot \gamma_C(x) - \gamma_B(x) \cdot \gamma_C(x) - \gamma_C(x)^2) \geq 0. \end{aligned}$$

we see that (m) is valid.

The other assertions are proved in a similar way. The other relations between the operations @, \$, #, \* and the other above operations are not valid. By the same means the following theorem is proved.

**Theorem 2.** For every two IFSs  $A$  and  $B$  and for every two numbers  $\alpha, \beta \in [0, 1]$ :

- (a)  $\square(A @ B) = \square A @ \square B$ ,
- (b)  $\square(A \$ B) \supset \square A \$ \square B$ ,
- (c)  $\square(A \# B) \supset \square A \# \square B$ ,
- (d)  $\diamond(A @ B) = \diamond A @ \diamond B$ ,
- (e)  $\diamond(A \$ B) \subset \diamond A \$ \diamond B$ ,
- (f)  $\diamond(A \# B) \subset \diamond A \# \diamond B$ ,
- (g)  $D_\alpha(A @ B) = D_\alpha(A) @ D_\alpha(B)$ ,
- (h)  $F_{\alpha, \beta}(A @ B) = F_{\alpha, \beta}(A) @ F_{\alpha, \beta}(B)$ , for  $\alpha + \beta \leq 1$ ,
- (i)  $G_{\alpha, \beta}(A @ B) = G_{\alpha, \beta}(A) @ G_{\alpha, \beta}(B)$ ,
- (j)  $G_{\alpha, \beta}(A \$ B) = G_{\alpha, \beta}(A) \$ G_{\alpha, \beta}(B)$ ,
- (k)  $G_{\alpha, \beta}(A \# B) = G_{\alpha, \beta}(A) \# G_{\alpha, \beta}(B)$ ,
- (l)  $H_{\alpha, \beta}(A @ B) = H_{\alpha, \beta}(A) @ H_{\alpha, \beta}(B)$ ,

- (m)  $H_{\alpha,\beta}^*(A @ B) = H_{\alpha,\beta}^*(A) @ H_{\alpha,\beta}^*(B)$ ,
- (n)  $J_{\alpha,\beta}(A @ B) = J_{\alpha,\beta}(A) @ J_{\alpha,\beta}(B)$ ,
- (p)  $J_{\alpha,\beta}^*(A @ B) = J_{\alpha,\beta}^*(A) @ J_{\alpha,\beta}^*(B)$ ,
- (q)  $X_{a,b,c,d,e,f}(A @ B) = X_{a,b,c,d,e,f}(A) @ X_{a,b,c,d,e,f}(B)$ ,
- (r)  $C(A @ B) \subset C(A) @ C(B)$ ,
- (s)  $C(A \$ B) \subset C(A) \$ C(B)$ ,
- (t)  $I(A @ B) \supset I(A) @ I(B)$ ,
- (u)  $I(A \$ B) \supset I(A) \$ I(B)$ .

It can be easily seen that the equalities

$$(A @ B) @ C = A @ (B @ C),$$

$$(A \$ B) \$ C = A \$ (B \$ C),$$

$$(A \# B) \# C = A \# (B \# C),$$

$$(A * B) * C = A * (B * C)$$

are not valid. Thus we define

$$A_1 @ A_2 = \underset{i=1}{\overset{2}{@}} A_i$$

and

$$\underset{i=1}{\overset{n}{@}} A_i = \left\{ \left\langle x, \left( \sum_{i=1}^n \mu_{A_i}(x) \right) / n, \left( \sum_{i=1}^n \gamma_{A_i}(x) \right) / n \right\rangle \mid x \in E \right\}.$$

Now, we have the following theorem.

**Theorem 3.** For every  $n + 1$  IFSs  $A_1, A_2, \dots, A_n$  and  $B$ :

$$(a) \overline{\underset{i=1}{\overset{n}{@}} A_i} = \underset{i=1}{\overset{n}{@}} \bar{A}_i,$$

$$(b) \underset{i=1}{\overset{n}{@}} A_i + B = \underset{i=1}{\overset{n}{@}} (A_i + B),$$

$$(c) \underset{i=1}{\overset{n}{@}} A_i \cdot B = \underset{i=1}{\overset{n}{@}} (a_i \cdot B).$$

**Theorem 4.** For every  $n$  IFSs  $A_1, A_2, \dots, A_n$  and for every two numbers  $\alpha, \beta \in [0, 1]$ :

$$(a) \square \left( \underset{i=1}{\overset{n}{@}} A_i \right) = \underset{i=1}{\overset{n}{@}} \square A_i,$$

$$(b) \diamond \left( \underset{i=1}{\overset{n}{@}} A_i \right) = \underset{i=1}{\overset{n}{@}} \diamond A_i,$$

$$(c) D_\alpha \left( \underset{i=1}{\overset{n}{@}} A_i \right) = \underset{i=1}{\overset{n}{@}} D_\alpha(A_i),$$

$$(d) F_{\alpha,\beta} \left( \underset{i=1}{\overset{n}{@}} A_i \right) = \underset{i=1}{\overset{n}{@}} F_{\alpha,\beta}(A_i), \quad \text{for } \alpha + \beta \leq 1,$$

$$(e) G_{\alpha,\beta} \left( \underset{i=1}{\overset{n}{@}} A_i \right) = \underset{i=1}{\overset{n}{@}} G_{\alpha,\beta}(A_i),$$

$$(f) H_{\alpha,\beta} \left( \bigoplus_{i=1}^n A_i \right) = \bigoplus_{i=1}^n H_{\alpha,\beta}(A_i),$$

$$(g) H_{\alpha,\beta}^* \left( \bigoplus_{i=1}^n A_i \right) = \bigoplus_{i=1}^n H_{\alpha,\beta}^*(A_i),$$

$$(h) J_{\alpha,\beta} \left( \bigoplus_{i=1}^n A_i \right) = \bigoplus_{i=1}^n J_{\alpha,\beta}(A_i),$$

$$(i) J_{\alpha,\beta}^* \left( \bigoplus_{i=1}^n A_i \right) = \bigoplus_{i=1}^n J_{\alpha,\beta}^*(A_i),$$

$$(j) C \left( \bigoplus_{i=1}^n A_i \right) \subset \bigoplus_{i=1}^n C(A_i),$$

$$(k) I \left( \bigoplus_{i=1}^n A_i \right) \supset \bigoplus_{i=1}^n I(A_i).$$

The proofs of these assertions are the same as in the above proof.

**Theorem 5.** For every two IFSs  $A$  and  $B$ :

$$(a) A \cdot B \subset \left\{ A \cap B \subset \left\{ \begin{array}{l} A \# B \\ A \$ B \\ A @ B \\ A * B \end{array} \right\} \subset A \cup B \right\} \subset A + B,$$

$$(b) A \$ B \subset_{\square} A @ B,$$

$$(c) A @ B \subset_{\diamond} A \$ B,$$

$$(d) A \# B \subset_{\square} A \$ B \subset_{\square} A @ B,$$

$$(e) A @ B \subset_{\diamond} A \$ B \subset_{\diamond} A \# B,$$

$$(f) A * B \subset_{\square} A @ B,$$

$$(g) A * B \subset_{\diamond} A \# B.$$

The validity of these inclusions follows from the validity of the following inequalities for arbitrary real numbers  $a, b \in [0, 1]$ :

$$a \cdot b \leq \min(a, b) \leq \frac{2 \cdot a \cdot b}{a + b} \leq \sqrt{a \cdot b} \leq \frac{a + b}{2} \leq \max(a, b) \leq a + b - a \cdot b,$$

$$a \cdot b \leq \frac{a + b}{2 \cdot (a \cdot b + 1)} \leq \frac{a + b}{2}.$$

These operations can be transferred to operations on ordinary fuzzy sets as follows:

$$A @ B = \{ \langle x, \frac{1}{2}(\mu_A(x) + \mu_B(x)) \rangle \mid x \in E \},$$

$$A \$ B = \{ \langle x, \sqrt{\mu_A(x) \cdot \mu_B(x)} \rangle \mid x \in E \},$$

$$A \# B = \{ \langle x, 2 \cdot \mu_A(x) \cdot \mu_B(x) / (\mu_A(x) + \mu_B(x)) \rangle \mid x \in E \},$$

$$A * B = \left\{ \left\langle x, \frac{\mu_A(x) + \mu_B(x)}{2 \cdot (\mu_A(x) \cdot \mu_B(x) + 1)} \right\rangle \mid x \in E \right\}.$$

Now, Theorem 5 obtains the form:

$$A \cdot B \subset \left\{ \begin{array}{l} A \cap B \subset A * B \subset A \$ B \subset A @ B \subset A \cup B \\ A * B \end{array} \right\} \subset A + B.$$

## References

- [1] K. Atanassov, Intuitionistic fuzzy sets, *Fuzzy Sets and Systems* **20**(1) (1986) 87–96.
- [2] K. Atanassov, Two operators on intuitionistic fuzzy sets, *Comptes Rendus de l'Academie Bulgare des Sciences* **41**(5) (1988) 35–38.
- [3] K. Atanassov, More on intuitionistic fuzzy sets, *Fuzzy Sets and Systems* **33**(1) (1989) 37–46.
- [4] K. Atanassov, Four new operators on intuitionistic fuzzy sets, Preprint IM-MFAIS-4-89, Sofia, 1989.
- [5] K. Atanassov, A universal operator over intuitionistic fuzzy sets, *Comptes Rendus de L'Academie Bulgare des Sciences* **46**(1) (1993) 13–15.
- [6] K. Atanassov, New operation, defined over the intuitionistic fuzzy sets, *BUSEFAL* **57** (Dec., 1993) (in press).
- [7] K. Atanassov, New operation, defined over the intuitionistic fuzzy sets, 2, *BUSEFAL* **57** (Dec., 1993) (in press).
- [8] K. Atanassov, New operation, defined over the intuitionistic fuzzy sets, 3, *BUSEFAL* **57** (Dec., 1993) (in press).
- [9] K. Atanassov, New operation, defined over the intuitionistic fuzzy sets, 4, *BUSEFAL* **57** (Dec., 1993) (in press).
- [10] T. Buhaesku, Some observations on intuitionistic fuzzy relations, Itinerant seminar of functional equations, approximation and convexity, Cluj-Napoca (1989) 111–118.